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9x3 — 3x2 — x2 + 3x2 + 7x3

2x— 2% = 2(8x° + 4x°) — 3%

3(6x3 — 5x2) + 8% — 4y + 6

3x% — 9x — 9x — 4(x — 9x)

6x° + 8x + 4(5x% — 9x) — 2x

Al

3(2)63 — 9x3) —6x+ 58 +x°

3 3 3 3

X +x+4x +Tx +x

4% + 9% + 3(4x% — 4x°) — 4x

X —3x—2x— 9 —x°

70— 4x° = 2(2x° — 6x°) + 3x
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O — 3% — 2+ 32+ 70
16x° — x*

2 — 202 = 2(8%° + 4x°) — 3x°
273 — 2% +2x

3(6x° — 5x%) + 8¢ — 4x? + 6x°
24x° — 1122

3x2 = 9x — 9x — 4(x — 9x)
3% + 14x

6x> + 8x + 4(5xF — W) — 2x
6x° — 1637 + 6x

Al

3(2)(?3 — 9x3) —6x+ 5% +x?
—16x° + > — 6x

x4’ + 70 +x

13x° + x

3

4% + 9x° + 3(4x® — 4x°) — 4x
—3%° + 1622 — 4x

¥ = 3x—2x— 9 —x°
—Ox> — 5x

7 — 4 =22 — 6°) + 3x?
11 + 3x?
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